ERRAROBREERT —IX—BISH—F 202557858 (*) 20&ES3H
N _— _— = [ — = . . £ —_
ER¥#=65 18052 USRImE (5 =8 BRI
[xE%] 17 : 11,100,000  25& : 4,400,000 33 : 2,800,000  43& : 1,700,000  53& : 1,110,000
%5 FRERS /M 1 %2 17EHT 27ERI 3%ERT
1922725~ 10 112 | 1502 43P
101 5} Sokpyor 2,:82322,2 HEE SIS 4 LB N YSRIBLIBISR
2] %3585+ 0-0-0-1 #HET7—4 3:19.9(5.6) 12-12-11-12 13.8 | 1:52.13.4)  3-3-3-11 39.7 | 1:34.01.4)  13-13-14 34.8
9.1 BsieE (60.0)_ 02410 HATIES (58.0) 492-10 1A (58.0) 502-4
SIEH: - ELXH—V SHE%8:69.0 Ly ENvE SHE#8:79.6 YV # L
G 43 7 Al 1 1 2025/6/15 BREE 2 8 2025/4/6 LI 7 3 12025/3/22 il
BllafeA (55.0) &) Al 1800 B Al 1600 B Al 1600 B
R] AITz—II 1-1-0-3 =
2 ARG ECIED 0-0-0-0 r‘%ﬁj{% J\BHE B SR *15%(3&&)1 BIS2 va%(m; BIS52 )
2 -0-0— TR 1:47.8(1.2) 7-6-2-3 36.5 1:34.5(0.3] 7-8-7 34.0 1:35.5(0.4) By .
8] 707 (U AL ARiER (55.0) 426+ BIIBEA (57.0) 4168 AR (53.0) 4248
e ) SIEH:85.2 WILHA RS SHE¥1:89.6 3T =a—2R | SIEH:87.7 PISVAN |<‘j“—'
A TG | 225 132 T5
3 FI SRyl gass EREH LT YSRABEBISR YSFARE BTS2 SR 89
51\':' AT 0-0-0-0 /=YY T7—h 1:46.3(0.5) 4-5-5 34.0 | 1:58.4(0.0)  5-5-4-6 33.8 | 2:27.8(0.8)  6-2-2-2 34.9
BR] U-071—2(®) 916 oD 50 a2 | EREA (0 a2 BHIEE (5.0 524
B8:92.7 ZV /T 47 E8:95.7 TS5V 554:78. -
== =P 3 /5 M 2 |2025/4/5 Pl 2 2025/3/22 thLli 9 12025/3/1 Ll
177_/1{ e RIS (55.0) (&8 1 A= 2000 B 2 A= 2000 B 3 A= 1800 B
R] /05D 1-1-1-1 =
4 EARTS panagEad 0:0-00 it Y533 AR YS33 BBl YS33 AR
8] PX=UT K 0-0-0-0 SRS 2:00.8(0.4) 2-2-2-2 35.3 | 2:01.00.1)  4-5-4-3 36.3 | 1:48.3(0.4)  4-5-6-6 34.2
BR] IAUAT v~ 8.8 KSR (57.0) 4624 REHEH (57.0) 46642 AT (57.0) 464t
SHE#R:90.5 (Y TATILRYRY) | SiEE:90.7 94 Y RF1—H SiE¥:84.9 TV YT TU—X
WFFYURLA—T t 4 ZEE EMH 6 2025/4/19 thLli 8 [2025/3/22 R 312025/1/18 oLl
9,{] E,F\it/ ':\A_ (G?) BRARES.0 ) 5 AlZ 2000 B 4% 22000 B 6 A‘*z’ 2000 B
505 (@] 9urres s () HEL—RK—2 PSRABE BTS2 SR B 52 BSRABLT BTS2
8] gvTFY 2 -0-0- #HEIT7—L 1:58.8(0.4) 11-11-12-12 33.5 2:00.4(0.2) 12111211 35.2 | 2:00.8(1.2) 12-12-13-9 35.2
& 3 0-0-0-0 =)
e
E8:91.4 IS JRET 525:86.4 7 >
47 3 %5 SEFIZEEE 12|2025/6/15 B 2025/3/23 il 7 12025/2/23 &R
T'g },\V(ﬁ/_g 1"?5‘357%(58 0 =) 16 Al 5 1600 = 14 2 2500 B 4 Al 2400 B
Y 6 X] ) E/j; B 0-0-0-0 S YSRIMETBISA YSRABEIBISA YSRABEIBISR
E e Gl e 0-0-0-0 BRT7 =k 1:38.2(2.4) 11-11 37.6 | 2:35.6(2.7) 10-10-2-3 38.8 | 2:28.4(0.6)  7-7-2-2 35.5
BR] N\—vI54 A TEHE (58.0) 544+2 RS (58,0) 542 0 HOEA (57.0) 5422
i SIEE:T71.4 TUA YISOV | SEH73.1 1 7U—)L SIE%:88.7 PAIAKRTSw T
3 # 3 = R 2/2025/4/20 TPl 1 2 |2025/3/23 thil
Y tﬁ?ﬂtn PISER (5.0 (i 1 X250 & 352500 251550 s
. Ay -0-0- INHES o5 3 HRE H5%3 R o5 3 HERE
a7 Bl \947 A 8_8_88 REHE 1:59.7(0.3)  4-2-3-2 34.3 | 1:34.7(0.5) 2-4-5 35.2 | 1:34.4(0.0) 2-5-2 35.7
8gR] xF1=J7—2 8.5 BIER (7.0 450 0 ERHA 657.0) 450 0 BRI (57.0) 45002
WBEHRELT Y a2 2—)L 1R 1320.05M ) SIE¥:88.5 (T4 —INO—) | SIE¥:82.8 H—Fw hDAVT | SiE#:86.20 TILAAXYF
oJ)I—S>— i 4 B [=E=r] 7 5 12024/8/10 ALi% 7 17‘2024/4/27 L 0 8 ‘2024/3/30 Pl
yF AUL7E (58.0) &) AlZ 1800 B Al 2400 B Al 2000 E
78 5} }5_3—;1’ 0000 AREEH BRI BTS2 BHERG2 LIRSS 1 B9S2
e’ 3se = N 0-0-0-0 /=YY Tr—I 1:48.4(0.4)  11-10-8-9 35.9 | 2:31.2(7.0)  6-8-9-11 40.5 | 2:15.7(0.6)  1-1-1-2 35.9
HR] 274> (Ush) 8.8 KEITE (55.0) 50244 KEEEh (57.0) 498-6 HRIEE (57.0) 504-6
B L ’ SHE%:92.0 RARILTU VIR | SIEM:47.1 YaH—oY SIE8:84.8 5 YU PROY
YT —VaTF4 T 3 /RE I 3|2025/4/19 dhili 5 2024/11/17 HR
JI 7\5‘,/13\1‘} LSIL(USH) % 3.0 &) 31 Z 1800 B 1X Z 2000 B 3 22000 B
89 g} 7],({265’ ZFELY s SAAYU—AM—2 @) | ySRIMIBISR Y573 EABA Y5728
0-0-0-0 /=YY Ir=L 1:46.40.4)  8-8-5-3 33.2 | 2:00.2(0.1)  7-7-6-5 34.8 | 2:04.3(0.7) 2 2 134.3
R] 7 RYAPRA 8.9 Ssming (55.0) 47048 Sming (55.0) 46246 S (5.0)
SIE#:84.8 /EUYREY 3V | S§EE:89.4 (RLYT4—Ib) SiE#1:63.2 tfl\/lfl\U?I/ ~
DR M1 e [ 43 /2 BAREY 412025/4/19 B8 6 |2025/4/12 thLli 2025/3/23 il
/,\] é\l\g\obm_':b (Ush) RIS (558) 31X 2 2000 B 5% 2 2000 B 6 X 2 2000 B
8110 (8] S20—h—w oolee MEE VHTOYR BTS2 LS 1 BTS2 USRI HISR
I YN 0-0-0-0 BER S K 1:59.6(0.8)  4-4-4-4 35.7 | 2:00.4(1.4)  1-1-1-1 37.5 | 2:01.5(1.5)  1-1-1-1 37.3
BR] N—=YI54 84.5 fulpta (57.0) 478-16 BEN (57.0) 494-2 BEN (57.0) 496+18
: SHE%8:85.1 FILF D7 — SIE#:83.3 E—F VY hN— SIE#:79.1 PR FE
¥1-- [HEE/ER] [5%F (TE) | HEEE (- B) | [RE—NIEH x2-- [REE [PEl [HBE] [EERS]




ERRRROBERERT —I N—RBISH—F

202567858 (1) 2EES38

@ WX
L—20 L—2@ L—2@ L—2®
20256 48198 2025 38 16
pES bl | 7R[22000 [ B | Ll | 6R [ 21800 | B2 |
E‘;iﬁi4ﬁi 1752 :3‘;99?:3%52 BNl
1 ATZVTRI— - - - -
2| Y = = = -
3| 7V RO—ER E=l1:58.4156.0 - - -
4| PYZUI« ROV - 3% |1:48.357.0 = =
5/ 9vFPYRL—=T 5% | 1:58.8 1 58.0 - - -
6| FATRAYY - - - -
VAW ARSI - 455 | 1:48.7 | 57.0 - -
8| OYIL—5— - - - -
9| Yxz—ra747 - - - -
10 ¥Yzwv hITL—F = = = =
@ F591 L
1E52 20000 3220000 ZDfth
1 ATZVITRI— 2:01.0 | B | 2022467828 2:01.1 | B | 202351898 | dili 1:47.1 | B2 | 18000 | 2022118128 | /R
2| oY 2:02.2 | B | 202412818 | il 1:47.8 | B2 | Z1800M | 202526158 | EAR
3| 7V RO-EZR 1:58.4 | B | 202548198 | thill 1:46.3 | 4 | 318000 | 202556818 | TR
4| PYZUI4qA ROV 2:00.8 | B | 202554858 | il 1:48.3 | B | 218000 | 202543816 | by
5| 9vFFPYRL=T 1:58.8 | B2 | 202564198 | il 1:46.2 | B2 | 3Z1800M | 2024558128 | =
6| FATIAHY 2:02.1 | B | 20226118128 | B 1:52.8 | B2 | 31800M | 20224F8H78 | L%
AW RS 1:59.7 | B | 2025445208 | il 1:48.7 | B | 3Z1800M | 202563818 | pLly
8| OYIL—>— 2:00.9 | B | 2023612828 | il 1:48.4 | B2 | 31800 | 20244F83108 | 4Li%
9| Yx—rva747 2:00.2 | BB | 202518188 | thili 1:46.4 | B | 3218000 | 20258548198 | dhl)
10| ¥zv hITL—R 1:59.6 | B | 202584A198 2:00.3 | B | 2024598158 | Ll 1:50.8 | R | =Z1800M | 2024578208 | &5
0 5% ERE/REIALA
HE= i1 4B =il 1 £
L—2# BEIAL BREIAL L—2H BEIIL REIAL
B 3 1:59.3 | 2:02.2 30 1:57.9 | 2:04.7
fHE 0 0
2l 0 1 2:03.1 | 2:03.1
R 0 0




